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program project_212;

uses crt;

type person = record
id_card string[13];
id_tax string[10];
cach,chg eal;
name string [20];

ond;

var ch,menu,cre : char;

kaun : boolean;
fp : file of person;
irec - : integer;

son_non,son_stbefor jing : real;

status : byte;
add : string[30];
data : person;

sala,bonus insur loh fi,pksk,give : real;

sala_m,bonus_m,insur_mIch_mfi_mpksk_sm,give_m . real;

csala,tppm,price cprice,cly cly2,caon_non,cson_stcinsurclch : real;

ofi,cpksk,total_ly,sa_price,gain,cgive,net,sed,sedl tax : real;

csala_m,tppm_m,price_m.cprice_m,cly_mgly2_m cinsur_m.cleh_m : real;

ofi_mcpksk_m,total_ly_m,sa_price_m,gain_m cgive_m,net_msed_msed]l_m,tax_m : real;
{ }

procedure soundwave;

var iintsger;

bogin
sound(1200);delay(200);s0und(200);delay(1200);s0und(1200);delay(200);
nosound;

end;
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procadure intro;

var i

begin

{

: infeger;

toxtbackground(3); clrscr;

gotoxy(29,22);texscolor(0+128);
writecngannatfulaqidedushane);

window(18,9,64,18); textbackground(0);clrser;
window(17,8,63,17); sextbackground(5);cirser; wxicolon(14);
gotoxy(8 2y wrisin¢iusdouiuyimudhg Tusunsumsduaen;
write(’ muiudynaanssuar);
wxicolor(0);writsln((f1.9.0.91)); texolor(10)write¢  );

for im1 to 40 do

write(#1); wrileln; ®exicolor(l1);

writeln(’ §avhlng : wadsy oRT); Exiotor(6);
writeln(’ AW : 37500043 6; toxicolor(10);write(  ');
for i=1 to 40 do wrik(¥1); oxicolor(8);

writeln(’ wue : 0.915 noai ) exicolon(2);
wiw¢  Tisunsufighudnmilewesin o 212);

{ toxwolor(0);

write(#144); for i:=1 1045 do write(#130); write(#147);

for i=1 to 8 do writeln(#131);write(#148);

for i:=1 to 45 do writs(#130);

for im=1 to 8 do

begin
gOtoXy(47,14i);
wris(#131) }
soundwave;
ond;

procedure form;

begin

window(1,1,80,25); extbackground(2); clrscr; lexicolor(1); gotoxy(5,1);

writ(#144);

for i:=1 to 65 do wriks(#130); writeln;

wots(  '#131, HULHEAISBMIMBEL TRAYANBET TUAN.1.0.91)

gotoxy(5,3); writs(#148); for i:=1 to 65 do write(#130);writeln(#145);

texicolor(12); write(AUAU 1A textcolor(0); write( savlsz e nlsy vy,
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240

gotoxy(47,4); wrinCirvilsz W aBomiyigotoxy(@ Sy:wrin(¥8.0007; gomxy(38.5);
write(TIDg):g0toxy(9.6); wrim(iTusfErs);gotoxy(26.6);

writs(1M ***n3808nNnan IRTUTNY); gotoxy(66,6); wrim(UMe**?;
gotoxy(9,7); writsCHATUNWY); gotoxy(19.7):mxtolor(4);

wiieCTifon 1.Tra 2.uthe 3. qmusaludiuIf 4. gousmuanthn;
gotoxy(21.8); write(Romd s.qousailifuMusndrumi Suwusmiup;
textcolor(0); gotoxy(9.9); wrisyaTHOWTosNh 25 TaiddAneg=);
gotoxy(56.9),wrie('fU’); gotoxy(9,10);

wrincymafterpionnt 25 Tuoztdafinueg =; gotoxy(62,10);
write('A3); texcolor(9);gotoxy(9.11);

wrimcswaudoyse funsusssikesiimus 10 Tl gotoxy(71,11);
writo("UIW); gotoxy(9,12);

wriwCi o asidino s oadiosTn =)gotoxy(55,12):writsCLIY;
gotoxy(9,13); w:iu('t"lunnmﬂaﬁudﬂmﬂe#nn?aufwmqu‘mﬂa-l =
gotoxy(73,13); wrise(11N); gotoxy(9,14);
wris(HEuruUI BT AUTIY «;gotoxy(SS, L4);wriss (LW
gotoxy(9,15); wﬂu("lﬂmmm?nnrﬂanuqm = ");gotoxy(52,15);
wriln(UMY); texicolor(4):wrin(gause sovilszhanlszannn;
gotoxy(42,16); wrim(mvilszhiditemily;

gotoxy(9.17); wriss(¥0-8NA); gotoxy(48,17); wrise(UIREWY;
80toxy(75,17);write(LIWY); gotoxy(9,18);
wrin(*ssnidioanyinan1TuEW); gotoxy(50,18); wrikCumess";
s0t0xy(9,19); wrie("'wufiuﬂ'uﬂszﬁu(mnnsﬁi’mﬁﬁmm 10 ilifu‘lﬂ)-');
gotoxy(75,19); wrie("UM"); gotoxy(9,20);
wrissChwRutztine Ut o uRBaSn =); gotoxy(65,20); wrilCUM);
gotoxy(9,21); wﬂs('iwanonlﬂ'uﬁuﬂ‘amﬂo‘an?nﬁammsuqmﬂ%q =)
gotoxy(75,21); write("'LIN'); gotoxy(9,22);
wrisChsuaunudinemalizdudany =), gotoxy(60,22); wril(UW);
gotoxy(9,23):wriwC IhMaLTrIMAEMs AR =; gotoxy(56,23);
wrikln(LN);mxtoolor(10); for im1 1o 80 do wrim(#130);

{ }
sala:=0.00;bonus:=0.00;insur=0.00;kch =0.00;fi:=0.00;pksk:=0.00;give:=0.00;

sala_m:=0.00;bonus_m:=0.00;insur_m:=0.00;lch_m:=0.00:fi_m :=0,00;pksk_m:=0.00;give_m:=0.00;
caala=0.00;tppm:=0.00;price :=0.00;cprice =0.00;cly =0,00,cly2:=0.00;c80n_non=0.00;cson_st=0.00;
cinsur:=0.00xkch:=0.00;

|
cﬁ:-0.00;cpklk:-0.00;mlnl,_ly:-0.0G;sa_p:im:-0.00;guin:U0.00pgive:-0.00mL-0.00;ud:-0.00;
sod ] :=0.00;tax =0.00;
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data chg =0;data cach:=0;
toxtbackground(3);

pxicolor(9);begin

gotoxy(32,4)xeadin(data id_card);,  gotoxy(70,4);readin(data id_tax);
gotoxy(19,5);readin(data name); gotoxy(46,5);readin(add);
gotoxy(19,6);readln(sala), gotoxy(57 6);readin(bonus);
gotoxy(17,7);readin{statyz); gotoxy(51,9);readin(son_non);
gotoxy(54,10):readIn(son_st); gotoxy(62,11)readln(insur);
gotoxy(48,12);readln(lch); gotoxy(67,13);readln(fi);
gotoxy(45,14);readln(pksk); gotoxy(37,15);readin(give); end;

if statmg= 5 then

begin

end

bogin

end;

end;

gotoxy(29,16);roadln; gotoxy(65,16);readIn;
gotoxy(19,17);readin; gotoxy(58,17)readln(sala_m);
gotoxy(36,18);xeadIn(bonus_m); 80toxy(62.1§);teadln(imu.r_m);
gotoxy(48,20);readin(lch_m); gotoxy(66,21);readin(fi_m);
sotoxy(45,22);readin(pksk_m);  gotoxy(38,23);readIn(give_m);
window(5,18,74,22);lextbackground(0);clrscr;
window(4,17,73,21):textbackground(3)pirscr; textcolor(9);
gotoxy(15,2);write(* MIfurumilssfinveaing unsgouyaInousndn »y;
textoolor(d+128); ‘
gotoxy(18,4);wrieC#i#s natjy enmertiordr T dndnmm wwn;
roadin

window(5,18,74,22);extbackground(0);clrscr;
window(4,17,73,21);textbackground(3)clrscr; texwolor(9); _
gotoxy(15.2):wrike(* MIfnamissAnvevhunudon lifingruse »);
texwoolor(4+128); |
gotoxy (14,4 ;wriCH#### nAju enersiterth Wdunnumi see,

roadin

IT 257

241



MARING 1

procedure calcu;

bogin
window(1,1,80,25); textbackground(3);cirscr; fexicolor(l);
write(' HAIEAIMTANIAMNYE.. ); texwolor(S);
writsln(data name); texicolor(0);
for i=1 to 41 do write(#130);writ(¥129);
for i1 to 18 do write(#130);
write(#129)for i:=1 to 19 do wrike(#130); exkolor(S);
gotoxy(18,3);writ("T18N15"); wexicolor(0):gotoxy(42,3);write(#131);
wxtwolor(S);gotoxy(46,3); write(RNiIH 14):20t0xy(61 3):textcolor(0);
writo(#13 1);gotoxy(65,3);toxtcolor(5);writeln('§HINT f');iextcolor(0);
for i=1 to 41 do write(#130);writo(#146); for i=1 to 18 do writs(#130);
writo(#146)for i1 to 19 do write(#130);wexicolor(1);
writeC1iSuADUM$S 12 1ABY..Ytexicolor(0); gotoxy(42,5);wrike(#131);
gotoxy(61,5);writeln(#131);sexicolor(1);
wrin(2.Auimnodeiomszeenanau..y;
texkolor(0); gotoxy(42,6);wrike(#131);gotoxy(61,6);writeln(#131);
woxicolor(12);wrie(3.3mivu AR Wz +2)...;
texiolor(0); gotoxy(42,7);wrik(#131);g010xy(61,7);writin(#131);
wxscalor(0);wrim(s. M 1¥adoany 40 hifiu 60,000));
BOtOXY(42,8);write(#131);g0t0xy(61,8);writeln(¥#131);textoolor(4);
write('s.moandeu_dilisul14(30,000y);
toxcolor(0); gotoxy(42,9); write(#131);g0toxy(61,9);writeln(#131);texicolor(4);
write(’ _geusn(nsal Wilisudy);
exwolon(0); gotoxy(42,10);write(#131);g0toxy(61,10);wriss(#131);
writeInC  /fHH1IHHII ) xmolor(8);
write('6.1ATAUDE 15,000 $1UU Y;ioxtbackground(S);iexicolor(15);write(son_non:2:0);
sextbackground(3); texkolor(8);write’ ANY);
exkolor(0); go:oxy(42.1 1);wrike(#131);g0toxy(61,1 1 );wris(#131);
writelnC  HIHINIHIT);exicolor(8);
wriee(¢' YATAUOE 17,000 $14M );iextbackgronnd(S) exicolor(15); write(son_st:2:0); '
wxtbackground(3); texicolar(8);writ(’ ANY;
toxicolor(0); gotoxy(42,12),write(#1 Si);gomxy(ﬁl LA2)wrim(#131);
writeln¢ /I e xiolor(8);
exwolo:(9):wﬂh('7.nnwdnmﬁaﬂs:ﬁ'uﬂ’m...');
iexicolor(0); gotoxy(42,13);writo(#131);gotoxy(61,13);wrisein(#131);sextcolon(12);
wﬁn('s.ﬁutlzﬂunumuMsam{m%...');
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toxioolor(0); gotoxy(42,14), write(#131);g080xy(61,14);writeln(#131);sexolor(S);
wri(9.aangounoniiuiuadiemsy;

texicalor(0); gotoxy(42,15);write(#131);gotoxy(61,15);writeln(#131)stextcolor(1);
wriks(10.0angeutsnomulssiudan;

texicolor(0); gotoxy(42,16);wrike(#131);g0toxy(61,16);wrikln(#131);lexicolor(0);
wriln('11. 5 UAIOANEOU(S +647+8+9+10));

texicolor(0); gotoxy(42,17);write(#131);gotoxy(61,17);wrikin(#131);lexwolor(1);
wrin(12.8u1Andvinm 195w ay);

wxicolor(0); gotoxy(42,18);write(#131);30toxy(61,18);writeln(#131);exicolor(0);
wriss(13.0AMBBUILUTIAMINAD..Y);

exicolor(0); 5omxy(42,19);w;ib(#l31);gomxy(6!,19);wﬁbln(#131);bxt=olot(l);
wrib('M.l?u‘Mt[ﬂi( 12-11-13) >>55>>333>>53>%);

oxiolor(0); gotoxy(42,20); write(#131);gotoxy(61,20); writeln(#131);exwolor(0);
for iml to 41 do write(#130);wrile(#146);

for 1:=] to 18 do write(#130);

write(#146);for im1t0 19 do writs(#130);
wrie('15.mifd Ny Iy

iexicolor(0); gotoxy(42,22);wrike(#131);gotoxy(61,22);writeln(#131);ioxicolor(0);
for i1 to 41 do write(#130);write(#128);

for i=1 to 18 do write(#130);

write(#128)fori:=1 to 19 do wrik(#130);

 E— un e UM s _eeemnc}
csala=saln®12; gotoxy(d4,5);writc{caala:12:2);

gotoxy(44,6);,

if bonus-0 then write(® ---ee----- else write(bonus:12:2);
tppm:=csala+bonns;

gotoxy(44,7); write(tppm:12:2);

price =ippm*0.4;

if price >60000 then cprice=60000  clse cprice =price;
gotoxy(44,8); write(cprice:12:2);  cly =30000;g0toxy(44,9); write(aly:12:2); gotoxy(44,10);
if status=3 then

begin  cly2:=30000;write(cly2:12:2); end else

begin cly2:=0; wrik( ---------- "Yend;gotoxy(44,11),

if son_non=0 then

begin cson_non:=0; wrie('  ------e--- ; end ¢lse begin
cson_non:gon_non*15000; wrike(cson_non:12:2)end;gotoxy(44,12);
if son_st=0 then
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end;

begin cson_st:=0; write(! oo ; ond elss be§in
ceon_st:=son_st*17000; write(cson_st:12:2);end;gotoxy(d4,13);

if insur=0 then bogin cinsur=0; Wrifeln(' ~-------- “Yend elso

if ingur<=10000 then begin cinsur:=insur;write(cinsur:12:2)end clso

begin cinsur:=10000;write(cinsur:12:2);end;gotoxy(44,14);

if Ich=0 then begin ckh:=0; wrikeln( ---------- "Jiend else

if Ich<=10000 then begin clch:=lch;write(clch:12:2)end else

begin clch:=10000; write(clch:12:2);end; M
gotoxy(44,15);

if fi=0 then begin cfi:=Q; writeln(’ ------e--- "end else

if fi<=10000 then begin cfimlch;write(cfi:12:2)end else
bogm.cﬁ:-IOOOO;wﬁb(cﬁ:lz:Z);end; gotoxy(44,16};if pkak=0 then

begin cpksk:=0;write("  -v-------- "Y:end else

begin cpksk:=pksk;write(cpksk:12:2)end;

total_ly:=cly+cly2+cson_non+cson _st+cinsur+olch+cfi+cpksk;gotoxy(44,17);
writo(total _ly:12:2); sa_price:= tppm-cprice;gotoxy(44,18);write(sa_price:12:2);
gain=sa_price®0.1;(In@iuuTnndes Ty 10% veaduldina 1w}
gotoxy(44,19);f give=0 then begin cgive:=0;write( ---------- Yend

clso if give<=gain then begin cgive:=give;write(cgive:12:2);end else

begin cgive=gain;write(cgive:12:2);end; gotoxy(44,20);
not;=sa_price-total_ly-ogive,write(net:12:2);

 C— AUUMUHT }

gotoxy(44,22); tax =0); sed:=0); sed:=net;

if (sed>0)and(sed<=100000)tken begin

tax =tax+{sod*0.05); write{tax :12:2);end else

if (8¢d>=100001)and(zed<=500000) then

begin sedl:=sed-100000; tax:=(sed1*0.1)+5000;write(tax:12:2)end else

if (sed>=500001)and(sed<=1000000) then

begin sedl :nged-500000; tax:=(sadl *0.2)+50000+5000; write(tax:12:2);end else
if{sed>=1000001)and(sed<=4000000)then

begin sed] :=sod-1000000;tax =(sed1*0.3 4200000+50000+5000; write(tax:12:2); end olse

if(sed>=4000001)then begin sed1:=sed-4006000;

tax:=(sed1*0.37)+1200000+200000+50000+5000; write(tax:12:2);end else begin tax:«0;

write(’  ---aeeooo iend;
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Prooodure cacu_ ma;

begin
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if status=S then

begin

csala_m:=gala_m*12; gotoxy(63,5),write(csala_m:12:2);
gotoxy(63,6);

if bonus_m=0 then writs(" ---------- "} else write(bonus_m:12:2);
tppm_m:=csala_m-+bonus_m;

gotoxy(63,7); write(tppm_m:12:2);

price_m :=tppm_m*0.4;

if price_m >60000 then cprice_m:=60000

else cprice_m:=price_m;

gotoxy(63,8); write(cprice_m:12:2);

cly_m:=30000;gotoxy(63,9); writs(cly_m:12:2); gotoxy(63,13);

if insur_m=0 then begin cingur_m:=0; writeln(' ----------");end else
if insur_m<=10000 thon begin cingur_m:=insur_m;write(cinsur_m:12:2);end else

begin cinsur_m:=10000;writs(cinsur_m:12:2);end;gotoxy(63,14);

* if lch_m=0 then begin clch_m:=0; writeln(  ----v-e--- "Yend clse

if lch_m<=10000 then begin cich_m:=lch_m;write(clch_m:12:2);end else

begin clch_m:=10000;write(clch_m:12:2);end;

gotoxy(63,15);

if fi_m=0 then begin cfi_m:=0; writsln(' ---------- ");end else

if fi_m<=10000 then begin cfi_m:=lch_m;write(cfi_m:12:2);end else

begin cfi_m:=10000;wrike{cfi_m:12:2)end; gotoxy(63,16);if pksk_m=0 then
begin cpksk m=0;writs{’ --eevens-- "};ond else

begin cpksk_m:=pksk_m;write(cpkak_m:12:2);end;

total _ly_m:=cly_m-+cinsur_m-+clch_m-+cfi_m+cpksk_m;gotoxy(63,17);
write(total_ly_m:12:2); sa_price_m:= tppm_m-cprice_m;
gotoxy(63,18);writo(sa_price_m:12:2);
gain_m:=sa_price_m*0.1;{ingisunseadoelufiu 10% veauiuldvinmidee)
gotoxy(63,19);f give_m=0 then begin cgive_m:=O;write(! ---wovuom- ");end

else if give_m<=gain_m then begin cgive_m:=give_ni;write(cgive_m:12:2);end ¢l ’
begin egive_m:=gain_m;write(cgive_m:12:2);end; gotoxy(63,20);

net_m:=sa_prico_m-total_ly_m-cgive_m;write{net_m:12:2);

Aniamdng }

gotoxy(63,22); tax_m:=0; sed_m:=0; sed_m:m=net_m,;

if (sed_m>0)and(sed_m<=100000)then begin
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tax_m:=tax_m-+(sed_m*0.05);write(tax_m:i2:2);end else
if (sed_m>=100001)and(sed_m<=500000) then
begin sed1_m:=sed_m-100000; tax_n::=(sed]_m*0.1)+5000;write(tax_m:12:2);end else
if (sed_m>=50G001)and(sed_m<=1000000) then
begin sedl_m:=sed_m-500000; tax_m :=(sed_m*0.2)+500004+5000;writs(tax_m:12:2);
end else
if(sed_m>=1000001)and(sed_m<=4000000)then
begin gedl_m:=sed_m-1000000;tax_m:=(sed1_m*0.3)+206G000+50000+5000;
write(tax_m:12:2);
end else
if(sed_m>=4000001)then begin sedl_m:=sed_m-4000000;
tax_m:=(sed1_m™*0.37)+1200000+200000+50000+5000; write(tax_m:12:2);end. else

assign(fp.'a:dat);
rowrite(fp);
write(fp,data);
close(fp)
end;
{ }
procedure append_file;
begin

assign(fp,'a:dat);
resei(fp);
seok(fp filesize(fp));
write(fp,data);
close(fp);
end,;
{ }
‘ procedure conferm;

begin

window(4,8,78,20):textbackground(0)clrscr;
window(3,7,77,19);iextbackground(5);cirscryioxtcolor(7);

for i=1 10 75 do write(#130); taxicolor(10);
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end;

1

gotoxy($, 2write( UM TS onifumvesfiitu ooy, »;
textcolor(15);writeln{data.id_tax); textcolor(7);
for i:=l to 75 do write(#130);textcolor(14);

write( Ynuidamiimu 7.4.8.91 iy =)extcolor(15);writeln(tax:12 2):iextcolor(14);

write( f_it‘l’lliﬂ =Ntexteolor(15);

if stams=5 then writeln(tax_m:17 2)else Degin tax_m:=0;writeln(’  -=r=memsz=es - "yond;
toxtcolor(0);

write( TIUMEAABITIST =) extbackground(d)extcolor(3);

writeln(tax-+ax_m:11:2); gotoxy(3,7);

toxtbackground(5); xtcolor(15);

wiite¢ $132 Vudadiuiduchildsszng 0) ') texwolor(14)readin(befor)gotoxy(39,7);

writeln(befor:12:2);

texfcolor(15);

for i:=l to 75 do write(#130);

if befor >=(tax-+tax_m) then

begin jing :=befor-(tax+tax_m);gotoxy(15,10);
Ibxtbackground(4);write('ﬁllﬁﬂif’)ﬂ!ﬁﬁiﬁﬂﬂl ='); kaun:=true;
writeln(jing:12:2); datachg =jing;

and else

if befor =0 then

begin gotoxy(15,10);textbackground{4);

writ(qRADIITMI <);writeln(tax+tax_m:12:2);
data cach:=jing;

end else if (befor>0)and(befor<(tax+tax_m)) then

begin
jing =(tax+tax _m)-befor;gotoxy(15,10):exthackground(4);
wiito(’ faRosswmBY =) writelnGing:12:2);
data cach =jing;

end;  writeln;

toxtbackground(5):textcolor(15):
for i:=l to 75 do write(#130)textcolor(0);
cre:=readkey; if upcass(cre)="s'then create_new_file elsc append_file;

procodure display_fils;

begin
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window(1,1,80,25);texthackground(0):cltser;
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sasign(fp,'a:dat’);
rese(fp);
texicolor(12);

textcolor(10);

writetn(oulie$wr12 Fe'20 Ko vdhar 24 Auiur21y;

exicolor(12);

writkeln(" _

while not eof(fp) do
begin
texteolor(14);
read(fp,data);

writeln(data.id_tax:]1,data name:24 data cach:20:2 data chg:20:2):

{ if kaun than data cach:=}
end;
ch:=readkey;
if ch=''then
close(fp);
clrscr
end:

{aenins

procedure delete_file;
var fpl fp2 : file of person;

| integer;
nes : string[10];
begin

window(1,1,20,25);extbackground(8):clrscr;

repoat

bogin
clrsor;
assign(fpl,'a:dat);
assign(fp2, 'a:buf’);
reset(fpl);
rowrike(fp2);
writeln;
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write(’ ‘ldmuﬂ-:zhﬁﬂxﬂamiv“iﬂzﬁu :"); readin(ns);
for i:=1 to filesizo(fpl) do
bogin
read(fpl.data);
i (dataid_tax <> ns) then
write(fp2,data)
elso seek(fp2,filopos(fpl)+1);
end;
close(fpl);
close(fp2);
crase(fpl);
roname(fp2,'a:dat);
writeln;
clrser;
texteolor(10+128);

gotoxy(34,12);
writeln¢Cmsouted sAud )
extcolor(15);
gotoxy(12,24);
wiincqudoamrayszdoudunioly xnaifulaadideins, e hifesms)y;
ch:=roadkey; end
until ch=?[;

end;

{ }

procedure search_file;

var naatring{10];

bogin
window(1,1,80.25);
clracr;
assign(fp,'a:dat);
resoi(fp);
ropeat  clrscr; toxiolor(1);writeln;
win¢  ltmvlizddaddonBidesmfum . ; wadins):
read(fp,date);
with data do
begin
while (not sof(fp)) and (id_tax <> ns) do
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road(fp datn);
if id_tax=ns then

begin

olse
begin
ond;
end;
seek(fp,0);

clrsar;
toxicolor(12);
wrikln(#07);
oxicolor(12);

writeln("

exicolor(0); -
wrielnCinvlssh iy 12,9020, Readhsy' 24, Auiur 21);

texicolor(12),

writsln(’ %
texicolor(1);
writsln(data.id_tax:11,data. name:24 data cach:20:2,data ¢hg20:2);

end

clrsor;
goloxy(30,12);wrie( laims *);
textcolor(G);

writein(ns);

wriseln(#07);

gotoxy(9,24); texiwcolor(0);
wrincquiosmsfumseidouthmiel anmfulagdidoans, esc Tidoantny;

ch:=readkey;
clracr;

until chwi{;
close(fp):
clrscr

ond;

bogin
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repoat

window(1,1,80,25);textbackground(4);clrsecr;
window{20,3,60,5);extbackground(0);clrscr;
window(19,2,59.4);ioxtbackground(2);clrscr; texicolor(1);

(for i1 to 41 do write(#130);}

gotoxy(15.2); wriksCilenmuymisthaw);
window(20,8,60,17);textbackground(0)clrscr;
window(19,7,59,16);extbackground(3)xclrsct;

wxicolon(d); wrik(' «. /0=
oxicolor(0);

gotoxy(6,3); writs('NRIAY 1 : INISAIUBATE; texicolor(d);

gotoxy(6,4); wrie(NALOY 2 . auszibow); mxicolon(1);
gotoxy(6,5); write(NAINY 3 : Aumszition); mxicolor(S);
gotoxy(6.6); wrise(naiay 4 : guiluszilow); exwolor(4);
gotoxy(6,7); wrib('ﬂﬁﬂll e8C: lﬁﬂﬂ’liﬁ'li'l‘u'); textcolor(4);
gotoxy(3,9); wrikln("* .

textcolor(5);
write(#07);
monu:=roadkey;
case menu Of
‘1: begin form;calencalcu_mate,conferm; end;
2': delets_file;
' -h-fib;
‘4 display_file;

end;

until menu=*[; window(1,1,80,25);textbackground(6);clrscr;

end.{main}
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